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QUESTION 1

E-pipe services do no consume any MAC resources because MAC learning is disabled.
A. TRUE

B. FALSE

Correct Answer: A

QUESTION 2

An ES service can have both MAC and IP filters applied to it.
A. TRUE

B. FALSE

Correct Answer: B

QUESTION 3

Click the exhibit.

IP/MPLS Network

Analyzer

The operator at PE1 wants to analyze the traffic between CE4 and PE2. On a Nokia 7750 SR, which of the following is
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required as part of the configuration?

A. Both PE1 and PE2 need a mirror source.

B. PE2 needs a mirror source with the remote source specified.
C. PE1 needs a mirror source with the remote source specified.
D. Both PE1 and PE2 need a mirror destination.

E. PE2 needs a mirror destination that specifies a SAP.

Correct Answer: D

QUESTION 4

By default, what happens when a packet with a VLAN tag is received on a SAP provisioned with null encapsulation?
A. The original VLAN tag is removed.

B. The original VLAN tag is kept.

C. The VLAN tag is replaced by a provider tag.

D. The VLAN tag is kept and a provider tag is added.

Correct Answer: B

QUESTION 5

Which of the following SAPs will forward all tagged and untagged frames on the port?
A. sap 1/1/1

B. sap 1/1/1:*.0

C. sap 1/1/1:0.*

D. sap 1/1/1:0

Correct Answer: A
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